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. Answer any five 'queétions . " 15%5=T75
1. (a) Write two difinitions of Operation Research.
. Wnte some applications of OR.  2+5=7
(b) Solve the following LPP by . graphical
" method - 8

Mamnnze z=x,-2x%,

SUbJectto —-X +x2<l

- 6x  t4x,224
0<x<5 2<x,<4

[Turn over



2. (a) Explam ‘about . multlple Optlmal solutlons, L

Unbounded solutions and Infeasible solution.

6
(b) Solve the followmg LPP by sunplex method
Maxnmze z= 2x1 + x2 o 9
Subject to 4
X +2x,<10
"g+gS6
X, ‘-'x2 <2
. Xl~2x251 ‘
| X %20
3'. @ Dgﬁne slack, S“rplus and értiﬁci_al variable.
() Solve the, following LPP by pig niethojz
Minimize Z= 2x, +3x, ’
Subject to
o X tx, 25
X, +2% 26
. Where X, X, 2 0

4, (@) Deﬁne non-degenerate bagj,

for transportation probep, feasible solution

3
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(b) Solve the following transportation problem
where cell entries are unit costs. 12

O1 02 03 04 05 Available -

68 |35 4 |74 ]15] 18
57 sg |91 |3 |8]17
91 [60 | 75 | 45 [ 60|19
52 |53 2417 |8]13.
51188137 {13
Required | 16 | 18 |20 | 14 | 14

ol o|w|>

5. Write theydefinitions of Assignment model. Solve the

following Assignment problem : 3+12=15

1 |2 3 [4]516
12 110 {15 |22 |18 8
10 |18 |25 [15 [16]12
11 |03 ]8]519
6 |14 |10 [13 |13 |12
8 [12 |11 | 7 |13 [10

6. (2) Construct the dual of the problem: 5
. MaXinﬁze Z =xl + x2
 Subject to

mo0@| >

x;+x2+x357
- X 25
X <5

X,=8
Wherexzo x,20, %20
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" (b) Solve by dual simple'x method of the
following LPP o 10
. Minimize. z =2x +2x2+4x3
Subject to =
2x, +3x,+ 5%, 22
3%, +x+TX, <3
X, +4x,+ 6x, <5
x,z 0,x,20, x3 20

1. (a) Write the. nnportancc of Integer PrOgrammm g

Problem (IPp). 3
(b) Use cutting plan _meth'od to solve the
folloWing problem : 12
Maximize zZ= X +X, o
Subject to
3%, +2x, <5
x2 < 3

x220 and are mtegrs
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